
 

7/27/2021 www.lankota.com   |   Lankota Inc. Page | 1 Lankota is a registered trademark of Lankota Group. 

LANTB21461BLK 

Installation Instructions 
Lankota Universal Toolbox 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

7/27/2021 www.lankota.com   |   Lankota Inc. Page | 2 Lankota is a registered trademark of Lankota Group. 

Numerical Parts List 

 

Part Numbers Description Qty 
LANTBJD100-ABLK Toolbox Assembly 1 
LAN18A00 3/8” x 1” Hex Bolt 4 
LAN18000 3/8” Flat Washer 4 
LANF91090A122 3/8” Fender Washer 4 
LAN1618000 3/8” Nyloc Nut 4 

LANTBJD100-ABLK (1) LAN18A00 (4) LAN18000 (4) LANF91090A122 (4) LAN1618000 (4) 

Pictorial Parts List 



 

7/27/2021 www.lankota.com   |   Lankota Inc. Page | 3 Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 1 

Refer to Figures 1 & 2 

1. The toolbox assembly can be mounted to any flat surface of a minimum of 22” wide x 6” deep. Clear the surface of debris, plugs, etc. 
and set the toolbox in the desired location.  

2. If there are pre-existing holes to be used, mark the underside of the toolbox from the other side of the mounting surface through the 
pre-existing holes. If there are not pre-existing holes to be used, mark through holes in the bottom of the toolbox onto the mounting 
surface.  

3. Drill through the marked locations with a 5/16” drill bit. 

Figure 2 



 

7/27/2021 www.lankota.com   |   Lankota Inc. Page | 4 Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 3 

Refer to Figures 3 & 4 

4. Using the oversized washers on the back side of the mounting 
surface, bolt the toolbox to the mounting surface with the 3/8” x 1” 
hex bolts (LAN18A00), 3/8” fender washers (LANF91090A122), 3/8” 
flat washers (LAN18000) and 3/8” nyloc nuts (LAN1618000). 

Figure 4 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 


